v ' 4 '
M9 17 SwinGeudena ang. luwwans95 1w 15 uaz 16 AvanuinsAny

v o Aw = o A = = ° o =
JWNIN Vli]ﬂﬂ’liﬁﬂ‘]&l’]slluwu;ﬁ'lu ﬂﬂ’liﬁﬂlﬂ 2554 UUNMNUILAUNITANEN

STAUMSANE
UANTIVIIFNT/AIN IR/ nowu v v
ATURMSANEN dszana | dszeudnm mwﬁjm HPETIE] T
AOUAY aoulae
(®4119)

UANTIDITMIN 15 40,854 161,562 38,108 3,665 244,189
Jriabelvia 20,413 91,828 22,934 1,750 136,925
e a1 2,415 14,589 2,721 190 19,915
e a2 3,010 16,874 4,415 391 24,690
e vz 7,307 28,430 7,711 543 43,991
e lvauag 2,477 10,961 2,231 - 15,669
wed lvaas 3,044 11,123 2,847 49 17,063
e lvauae 2,160 9,851 3,009 577 15,597
nIaainhs 8,183 29,423 5,167 278 43,051
anhaal 3,558 12,731 2,207 278 18,774
ahaua2 2,915 10,840 2,106 - 15,861
anhaas 1,710 5,852 854 - 8,416
I INAYY 4,806 17,083 3,169 351 25,409
CRVITRTEN 2,609 9,192 1,603 351 13,755
AMWUYA2 2,197 7,891 1,566 - 11,654
niamigesaon 7,452 23,228 6,838 1,286 38,804
U FDIADUIUA ] 3,849 11,569 3,204 697 19,319
U FDIADUIUA2 3,603 11,659 3,634 589 19,485
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Wﬂﬂi%i]ﬂ”lfmiﬁw 36,705 139,545 29,196 2,018 207,464
I INT 9318 19,261 71,604 15,807 1,028 | 107,700
FO95 101 1 3,541 14,824 1,883 71 20,319
1FO9T101UN2 5,221 17,943 4,123 - 27,287
951013 6,012 24,158 6,486 957 37,613
1T 101UN4 4,487 14,679 3315 - 22,481
INIANIEN 5,191 20,916 4,321 329 30,757
newnval 2,035 8,536 1,527 - 12,098
WeLuua 2 3,156 12,380 2,794 329 18,659
INIAUNS 4,814 19,442 3,387 297 27,940
HNTIUa1 2,328 11,004 1,505 297 15,134
UNTLUR2 2,486 8,438 1,882 - 12,806
JanTaru 7,439 27,583 5,681 364 41,067
IRMITLTEEN 3,425 14,298 3,081 364 21,168
IRMTATToD) 4,014 13,285 2,600 - 19,899
i%m‘llﬁﬁi)i]"?i 151as 16 77,559 301,107 67,304 5,683 451,653
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